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Solving Trigonometric Equations
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SIn E versus SIN X = E
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6.6 Handout
Solve for x € [0,2m).
2.2sinx =+/3 4.cosx —1=0
2 2 +1 + |
5inx - @ COSX = ’
2
X =T 27 /x-—- 0,
S 3 L
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Algebra Review
(x—-—2)(x—-3)(x—4)=0
X-270 , X-3=0 X~ 4=

x=2,3, 4

The Zero Product Property states:
If AB =0,then4A =0o0orB = 0.
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x? =

=13

The Square Root Theorem states:

If [f(x)]? = ¢, then f(x) = +V/c

6.2 sinx cos x = V3 sinx )xeco)zﬁ
KRSiNXCcoSX — Es\nx - o
SI0% G?cosx - 6?) =0
SinX=0 Rcosx~3 =0
Cosx =V3_
sz O )'Tj x &
—1
=1 T
v
-59) Cl,o) —
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8.cos“x—1=0 ) X€CO,2">
x = |
COSX=
cosx = * |

)X:'Ol)

10. sec? x + /3 secx — V2 secx —vV6 =0
Lch $€§x=(*°

u+5u—ﬁu—\ﬁ; :O

-Fm_arotﬁv\

0
() 52 a3 =0
(W\T?:)(u-\f:_l =0
U+i3 =0 wu-J2=0
U=-3  WwIJzZ
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14.2cos’x +1 = —3cos x

dcosXx + Bcosx + | = O
et u=cosX

2uW +3u+ = O
u+1)G+ 1)=0
@cosx+)(cosx+l> O
Cosx = _g COSK=-|
&_Z‘H‘L -
\_>"3 >

18. 4 cos3x = 3 cosx
3
Acos X - Bcosx =)

casX <4cos )(—5> O

COsSX = o COS)("‘ﬂ'___
- ST
X= 2>2) Cosx = 155

o) X=TC 51 Z1T (|7
<5 \o’w’\a"oj
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20. tan? x + tanx —+/3 = v/3 tanx
tanx +1anx — 3 fanx -3 = O
+anx (—E:anx-rD -\\?(-l:a.nx +D e
('l:anx-l-D(-bqnx-\YS) =0
'éaf‘x=-__:_ tanx =\{3

|
K:@l_‘ - X:I T
L *° % S0 o

>
22. cos*x = cos? x
COS'X—Cos*X =)
cogx (cos -—D =0
cos. X=0 Cos%—l =0 COé;x -<C09\'y(os)e-(>='0
osx=0 cos x=| 03 X=0 (09K=1 1051

CoSx = |

-
[ X=32 ’3%)0)“_))
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New Directions: Find ALL the solutions (not just in [0,27) )

62.Sec3x—%§=0

sec(}@:i_‘g
sec(3x) = &=
3x = T omk, 3x= N 421K

x"%znk. J;[FM]
>

QXA, rmieva g Qxl—':-s;r-'—ri—zf\ﬂ
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Homework (from 6.6 Handout)

#1-21 odd - finding solutions in [0,27)
#61-69 odd - finding all possible solutions (+2mk)

Quiz movedto lk)ec)nesda?
Test st scheduled for T:F'\do‘a/
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